October 21, 2015

Question 10
The accompanying diagram shows quadrilateral BRON, w' MR and BO, which bisec @ at X.
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Prove: ABNX = AORX

The following is a list of possible statements and reasons that could be used in the proof.

[n the proof below, fill in the letter of the appropriate statement or reason from the list above.

Statements Reasons
1.BRON is a quadrilateral 1. Given
2.D aved al .R. Given

3. NR and BO bisect each othen [3. Given

4. NX = XR 4. G b:m.gm | .
5. GA /s (“‘e Sm:\'l‘o

50X = BX s

l6. E 6. Two intersecting lines form - V
<“\&§42m congruent vertical angles.

7.ABNX = AORX 7. A S‘,\Q

AM = cQ
7 MR e N 7 MR=AD Subtrctio {;u‘}
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Question 19

Given:
Quadrilateral ABCF,

and AE || BC .

BDE CDF, AFE BE bisects CF .

/e

Fill in the missing reasons for the proof using the List of Reasons for Geometric Proofs in the Reference Tables.

Prove: BC = FE

Statements Reasons
1. Quadrilateral ABCF, 1. Given
BDE,CDF, ARE BE bisects CF
XPog O et O
3. A8 || BC 3. Given

4. wCBD = ¥DEF

4.9

5. ¥BDC = xEDF

5.8

6. ABDC = AEDF

7. BC = FE

6. 18
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Question 15

Fill in the missing statements and reasons for the proof using the list of possibl

Gi\,en:m@ = @, AD and BE intersect at P, aPAB = {PBg
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